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1. The bride is much elder than the groom. æ–°å¨˜æ¯”æ–°éƒŽå¹´é•·è¨±å¤šã€‚
--> The bride is much older than the groom.

2. A voyage from London to Paris can be done by train.
å¾žå€«æ•¦åˆ°å·´é»Žçš„æ—…ç¨‹å•¯ä»¥æ•­ç•«è»Šã€‚
--> A journey from London to Paris can be done by train.

3. She was a coward on the stage, and could not utter a word.
å¥¹æ€¯å ´åˆ°ä¸€å€‹å­—ä¹Ÿèªªä¸•å‡ºä¾†ã€‚
--> She seized stage fright, and could not utter a word. 

4. I made an apology, and tried to have good relationship with my co-workers again after a heated
argument. åœ¨æ¿€çƒˆçš„çˆ­è«–å¾Œï¼Œæˆ‘å•‘å•Œäº‹å€‘é•“æ­‰ä»¥é‡•ä¿®èˆŠå¥½ã€‚
--> I made an apology, trying to mend the relationship with my co-workers again after a heated
argument.

5. 5. Your estimate of the market is way terribly wrong. ä½ å°•å¸‚å ´çš„è©•ä¼°éŒ¯å¾—é›¢è­œã€‚
--> Your estimate of the market is way off the rails.
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